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$EEUHYLDWLRQV�DQG�$FURQ\PV

$EEUHYLDWLRQ�±�D�VHW�RI�LQLWLDOV�UHSUHVHQWLQJ�D�QDPH��RUJDQL]DWLRQ�
ZKHUH�HDFK�OHWWHU�LV�SURQRXQFHG�VHSDUDWHO\����

H�J���8.��%&��&'��812��:+2��5693�

RI� VRPHWKLQJ� VXFK� DV� DQ� RUJDQL]DWLRQ�� H�J��� 2UJDQLVDWLRQ�
RI� 3HWUROHXP� ([SRUWLQJ� &RXQWULHV� ±� 23(&�� 6RXWK� $VLDQ�
$VVRFLDWLRQ�IRU�5HJLRQDO�&RRSHUDWLRQ����6$$5&��

7KHVH�DUH�DOVR�FDOOHG�LQLWLDOLVP�

81,&() 7KH�8QLWHG�1DWLRQV�,QWHUQDWLRQDO�&KLOGUHQ¶V�
(PHUJHQF\�)XQG

86$ $XWRPDWHG�7HOOHU�0DFKLQH

%& 3OHDVH�7XUQ�2YHU

$70 8QLWHG�6WDWH�RI�$PHULFD

1$6$ 9HU\�,PSRUWDQW�3HUVRQ

<0%$ ,QWHOOLJHQW�4XRWLHQWV�

9,3 <RXQJ�0HQV¶�%XGGKLVW�$VVRFLDWLRQ

,4 :RUOG�:LGH�:HE

372 1DWLRQDO�$HURQDXWLFV�DQG�6SDFH�
$GPLQLVWUDWLRQ

::: %HIRUH�&KULVW
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&RQMXQFWLRQV

&RQMXQFWLRQV�DUH��XVHG�WR�FRQQHFW�

WZR�ZRUGV��

H�J� .ROLWKD DQG 8SDWLVVD�ZHUH�JRRG�IULHQGV�

D�JURXS�RI�ZRUGV��SKUDVHV�

H�J� 7KH�KHUPLW�PHGLWDWHG�LQ�WKH�FDYH RU�XQGHU�D�ELJ�WUHH�

FODXVHV

H�J� :KDW� \RX� VD\� DQG� ZKDW� \RX� GR� DUH� FRPSOHWHO\
GLIIHUHQW�

VHQWHQFHV

H�J� $IWHU�KH�FROOHFWHG�WKH�DOPV��WKH�DVFHWLF�ZDONHG�RXW�RI�
WKH�FLW\�JDWH�
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VLQFH��EHFDXVH���WLOO���DOWKRXJK��EHIRUH
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